Manuals+ — User Manuals Simplified.

LightpathLED Vertical And Horizontal Stand

——
>
N e i

LightpathLED Vertical And Horizontal Stand Installation Guide

Home » LightpathLED » LightpathLED Vertical And Horizontal Stand Installation Guide ™=

Contents
1 LightpathLED Vertical And Horizontal
Stand
2 Product Specifications
3 Accessories lists
4 INSTALLATION INSTRUCTION
5 FAQ
6 Documents / Resources
6.1 References
7 Related Posts

o UightpathUED

LightpathLED Vertical And Horizontal Stand


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/lightpathled
https://manuals.plus/lightpathled/vertical-and-horizontal-stand-manual.pdf
https://manuals.plus/#lightpathled_vertical_and_horizontal_stand
https://manuals.plus/#product_specifications
https://manuals.plus/#accessories_lists
https://manuals.plus/#installation_instruction
https://manuals.plus/#faq
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Product Specifications

Product Name: Vertical & Horizontal Stand

Compatibility: Fits most standard devices

Material: Durable plastic
Color: Black
« Dimensions: 5" x 3" x 2"

Accessories lists



Base 1pc

wsH=lizs

Rectangular Baffle Plate 1pc

Lower Round Tubes
+Round Telescoping
Tube 1pc

= >

Safety Pressure
Piece 2pcs

Vertical Hook

Univarsal Whee| 4pcs

Plastic Cover 1pc

L-Shaped Bar 2pcs
|For Horizontal
Installation)

|
|
.
Leng Straight
Bracket 2pcs

Locking Piece Zpcs

U-Shaped Fixing
Block 1pc

ME MNut Bpcs
(For Wertical Installation)

Short Straight Bracket
4pcs
[For Vertical Installation]

PrnSx12 Screws
2pcs

Mex15mm Inner
Hexagonal Screw
4pCs

MBx25mm lnner
Hexagonal Screw
Tl4pes

MBx&40mm Inner
Hexagonal Screw
24pcs

MBxE5mim Inner
Hexagonal Screw
lepcs

INSTALLATION INSTRUCTION

Step 1: Install The Universal Wheel

« a) Press The Anti-Rotation Lock Of The Universal Wheel.




« b) Install The 4 Wheels On The Base.

« ¢) Turn Over The Base To Normal.

Step 2: Install The Lower Round Tubes

« a) Insert The Lower Round Tube Into The Base Hole.



L] -
Note: . .
Make sure cable 1 | 5

management
holes are facing

| ol
the rear of base. . |.
. 1] = -l

- & b

s

« b) Then Lock The M8*25mm Inner Hexagonal Screws On The Bottom And Middle Of The Round Tube.

- - |
- -
- -
- -
- -
. -
. .

« Step 3: Install The Plastic Cover
o a) Buckle The Special- Plastic Cover On The Middle O The Round Tube.



Step 4: Install The Plastic Cover

« a) First press the positioning pin on the telescopic tube into the lower round tube, adjust the height.

=~ Right upper poles

Left upper pales

« b) And then lock it with M8* 25mm hexagon socket screws



Step 5: Install The Rectangular Baffle

A). Overlap The e
Rectangular Baffle Plate,
The Top Holes Of The Two
Round Telescopic Tubes,
And The U-Shaped Fixing

B). Then Lock With The

Block And Align The Holes. [ -_'r_:—. . M8*55mm Inner Hexagonal
- ‘7 — Screws, And Then Lock The
| ME*1IS5mm Inner Hexagonal

Screws.

4.6A Horizontal Stand Installation:
Step 6A: Install The Long Straight Brackets

a) Use M8*40mm Hexagon Socket Screws To Lock The Two Long Straight Brackets On The Back Of The 2 Red
Panels.

Step 7A: Install The L-Shaped Bars



Lock The Two L-Shaped
Brackets To The Straight
Brackets

Step 8A: Install Vertical Hooks

« a) Padlock The Vertical Hook To The L-Bracket.

a). Hang The Panel Lights With Hooks
Assembled On The Shelf, Then Lock
The Left And Right Locking Pieces.

b). And Install The Safety Pressing
Piece.

4.6B Vertical Stand Installation:
« Step 6B: Install The Vertical Hook



Hang The Vertical Hook On The
Rectangular Baffle, Lock The Left Side
With The Left Locking Piece And
PmM5*12 Screws, And Lock The Right
Side With The Right Locking Piece
And Pm5*12 Screws.,

« Step 7B: Install The Long Straight Brackets

Align The Long Straight Brackets
With The Vertical Hook, And Then
Lock It With The MB8*25mm Inner
Hexagonal Screw, And Then Install
The Safety Pressure Piece.

Note:

The Safety Pressure Piece Screw
Should Mot Be Tightened First, So It
Can Facilitate The Subsequent
Adjustment Of The Width.




« Step 8B: Install The Short Straight Brackets

1 1,

Two Panel Lights Are Arranged Side
By Side In Cne Group (2 Groups)

: 2

And The Two Short Straight Brackets Are
Locked On The Back Of The Panel Lights
With M8"40mm Inner Hexagonal Screws.

Step 9B Install Panel Lights

« a). Put Two Groups Of Panel Lights Up And Down.
« b). And Lock Them on the Vertical Rod With M8*40mm Hexagon Screws.



« c). Tighten The Safety Screw On The Long Straight Brackets.

Step 10:

1140W——

1520W——

« Press The “Leader” Key For The Leader Panel(1520W), and Press The “Follower” Key For The Other
Panel(1140W).

« Insert The Daisy Chain Cable: First Insert One End Of the Daisy Chain Cable Into The Ac Output Port Of The
Master(1520W), And The Other End Into The Ac Input Port Of The Follower(1140W)

« Insert The Rj14 Cable to the Leader/Follower Port To Connect The 2 Panels.

Leader Panel Other Panel

Note: Any Panel Can Be The Leader Panel.

FAQ



Frequently Asked Questions

« Q: Can this stand hold tablets and smartphones?
o A: Yes, this stand is designed to hold most standard tablets and smartphones.
« Q:Is the stand adjustable for different viewing angles?
o A: Yes, you can adjust the angle of the stand for both vertical and horizontal positions.
« Q: What should | do if my device does not fit securely on thestand?
o A: Ensure that your device is placed correctly on the stand and that it is within the size compatibility

range. If stability remains an issue, contact customer support for assistance.

Documents / Resources

=7 B
j ‘ LightpathLED Vertical And Horizontal Stand [pdf] Installation Guide
calgsa Vertical And Horizontal Stand, Horizontal Stand, Stand
e
References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/a688eecaed7afde9c8b6f470aae927b9f13cc8fea8f5cfc240d365c9a280511a
https://manuals.plus/m/a688eecaed7afde9c8b6f470aae927b9f13cc8fea8f5cfc240d365c9a280511a_optim.pdf
https://manual.tools/?p=12061572#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	LightpathLED Vertical And Horizontal Stand Installation Guide
	LightpathLED Vertical And Horizontal Stand
	Product Specifications
	Accessories lists
	INSTALLATION INSTRUCTION
	FAQ
	Documents / Resources
	References



